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S22 12,491,908 12,236,653 255,255
T AL 12,491,908 12,236,653 255,255
=AY 2,796,690 1,839,875 956,815
201 et2 Y| 5,000 5,000 0
01 AP 2t 2] d| 5,000 5,000 0
OgttL24| 3,000
—SESEAHY Y A28 3,000,000& 3,000
O3l 2,000
—SsSsEAE 29 2,000,000 2,000
202 04| 7,600 10,200 A 2,600
01 2Ll 7,600 10,200 A 2,600
O HHIANY g2 7,600,000 7,600
203 R Z= Yl 3,450 3,450 0
03 Al ZH =X 2= XIH| 3,450 3,450 0
O AEF=A 230,000& = 153] 3,450
A& HI L 20| 2,780,640 1,821,225 959,415
01 Al&H| 2,771,055 1,814,925 956, 130
OJle & A A& A 121,055
— AAl & A 3,550,000,000& * 3.41% 121,055
OAl&HI 2,650,000
— AA OHANRAHE E2(2E235) A2
AH(L=0.8km) 400,000,000 400,000
—HA 42 RIET2(2E85) MHEZ2AHL
=0.59km) 350,000,000& 350,000
— &Y S22 NAZ2(2E3S5) SHEZ 2 A
(L=0.5km) 400,000,000 400,000
—0let SE~sa2 T R2ME(2E215)(L=2.
6km) 150,000,000 150,000
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AN A4S0
B CRALRD
ool S AL (&)
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— g4 0SS UAZ2HLAAL(2E7S) (L=
0.4km) 300,000, 000& 300,000
—H& BEAMNHL SMLZE X (2E255
) 200,000, 000& 200,000
— G AT g0t (2E98) & AN
23 AFH(L=0. 1km 100,000, 000& 100,000
—UE PEUNE~RESE2 ESEIAL(
L=0.42km 250,000, 000& 250,000
— 29X HE-&AHZ2E15) &2 HEH(L=
1.0km) 100,000, 000& 100,000
— & =2luiE~=22H(2545) &8 M
I & (L=1.0km) 100,000, 000& 100,000
—Hd g&-8eH(ZE138)e2 MEHE(L=
1.0km) 100,000, 000& 100,000
—UEg 231~ (ZE178)228 WEHE
(L=1.0km) 100,000, 000& 100,000
—MENAANEEN (2E163)EZ MEFH(L
=0.8km) 100,000, 000& 100,000
03 Al 2 THHI 9,585 6,300 3,285
O=&= 3l 3,550,000,000& * 0.27% 9,585
sETZ &l 4,444,299 4,978,140 A 533,841
203 YR =& 2,000 1,500 500
03 A F=XH S =AY 2,000 1,500 500
OEZAH F&H 200,000& = 102l 2,000
401 AIEHIZ 28I 4,442,299 4,976,640 A 534,341
01 A& HI 4,428,524 4,963,680 A 535,156
OJl= & AAZAH 178,524
— & Al E A 5,510,000,000& * 3.24% 178,524
OA&H 4,250,000
— &Y 5l2-DY HE} T2 HEEDA(L=
0.8km) 200,000, 000& 200,000
—EX 308 ALYz SHZE I AH(L=1.4km)
500,000,000 500,000
-0y 220s Y2 LA I AH(L=1.09km
) 400,000,000& 400,000
— 20 WES-AZX2 =2 HZTEHIZA(L=1.3
7km) 400,000,000 400,000
—0lg Ot=0t2 &AY=2 EHIZE I AH(L=0.25km
) 200,000, 000& 200,000
— & 0eotg A2 EHIE I AH(L=0.5km)
300,000,000 300,000
— 2= =02 Y2 LA I AH(L=0.85km
) 500,000,000 500,000
— &g N2 T2 HUISAH(L=0.7km)
300,000,000 300,000




AN A4S0
By cRAMD
ool S AL (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— g AEOs 2 EXZEZA( L=1.18k
m) 200,000, 000& 200,000
—gX 2s0ts 2 EZHZAH(L=0.2km)
100,000, 000& 100,000
~ DY L2A-SBUTARYYN T2 HEY
= AH(L=0.52km 300,000, 000& 300,000
— HA4 QA 2A-EEH0IS &2 EZ AT AL
=1.0km) 200,000, 000& 200,000
— 23 GtAIE &2 E I E(L=0.17km)
200,000, 000& 200,000
— &9 got~&2t &2 MWEE(L=1.0km)
100,000, 000& 100,000
— &4 Gtel~ystwt &2 MWEE(L=0.7km)
50,000,000& 50,000
— X FOoXots ALE=2 MHEZH(L=1.0km)
100,000, 000& 100,000
— e HEDIS AYE2 S E ZAH(L=1.0
km) 200,000, 000& 200,000
03 AIE =2 0HHI 13,775 12,960 815
Os&&2 &Yl 5,510,000,000& * 0.25% 13,775
E2ANE X2 3,165,919 2,618,638 547,281
101 1244 dl 50,046 405,672 A 355,626
4 D12t Z2XHEES 50,046 405,672 A 355,626
OusSE XA 22,546
—Jlas 73,2803 * 728 » 304 15,829
— 024 78,280% * 7298 x 0.5 x 23| 5,637
— 2hAlH| 5,000& = 72%H « 33| 1,080
O&aB4 MR 27,500
—JlEs 73,2803 * 1H = 245¢ 17,954
- RS 73,2803 * 19¥ » 68 4,984
— 28z 22,936,640& * 0.103 2,363
— &&=z 73,280& * 1% = 30 2,199
201 L2l 166,730 165,990 740
01 At 22l 107,800 107,800 0
Oget=&H| 58,200
—E23H AR 100,000& * 403 4,000
—NHEMEE 100,000 * 20 2,000
—HoiM F5LSE 300,000& * 150& 45,000
— Sl 2ef=0U 400& = 15,0004 6,000
—sE0H=xI AHE 2 600,0008 * 2= 1,200
Oogxtz 47,000
—SE2EHIE =4I
550,000& = 2CH = 103l 11,000
—gZEH 550,000& * 20H = 103] 11,000
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By cRAMD
ool S AL (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—HoiiME FHILIH(2AII)
550,000& » 143 ™ 7,700
— o2 E HUIY(EZEH)
550,000& » 145 7,700
— S22 Wi 2t
800,000& = 12& 9,600
ou=l 2,600
—OHIHI(XI, BYs S) 7Y
200,000 = 13Y « 13 2,600
02 2524l 58,930 58,190 740
Ozs22= & HA 1,860
—C2&EE 660
SED FaE = = 40,0003 * 1CH = 23 80
At S XAl 40,000 = 104 = 23] 80
AsIHEE= 500,000& = 104 = 13l 500
— S22 AMRY HIIRS3
100,000& » 12& 1,200
OA&EHl s Xl 37,150
—S2FH(H=0],27 S) =cl
100,000& * 20CH 2,000
— Lot ME FHl =2l 200,000 * 25CH 5,000
— =D ¥ NEHFUH 15,150
- FeEs 1,600& » 2,000 3,200
- 3R 1,400& * 8,000 11,200
- BES 5,000& = 1504 750
—gXw F2XH 5 2 15,000, 000& 15,000
O =zl 8,920
— Sl E(EH) 5,000,000& 5,000
— S E(EUEH) SHHE
1,400& = 200 » 145H 3,920
OXtas o8ty 11,000
—CERANY UL AEIH 24
11,000, 000& 11,000
401 Al HIZ 201 I 2,947,143 2,044,976 902,167
01 A& HI 2,934,906 2,037,902 897,004
O&a Al & A I 115,906
—EZANE 71X 3,399,000,000& * 3.41% 115,906
OAl&HI 2,819,000
-2 =22 AN
300,000, 000& 300,000
— 25 =sEEZ A2 IXRIALY
350,000, 000& 350,000
—OMAIEE AXI(EBAZE S)  10,000,000& 10,000
—HElo2s+% AIZ&E ZHl 10,000,000& 10,000




AN A4S0
M T AL
ciel: cRAMDE (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—C2gs EAE FZ 20,000,000& 20,000
~2C 52C2 NEIPA LA
20,000,000& 20,000
—EZ2 =4 &M 20,000,000& 20,000
—Z2X% uA ¥ e 40,000,000& 40,000
-5 HEXE WA 45,000,000 45,000
— W HMEFH Y 40,000,000& 40,000
— 0l R&XT =14 =2 IH4L(L=1.0km)
100,000, 000& 100,000
—HESENG MRA AEDA(AS AE14)
200,000, 000& 200,000
- 25 SECZ 22N+ B
280,000, 000& 280,000
— #2493 221954 B HHI(L=1.1km)
350,000, 000& 350,000
— 2020 HX D HYUOHHZ E
270,000, 000& 270,000
—2Xw wH WEE BAH(ZE75)(L=0.3km
) 200,000, 000& 200,000
— & SA0E MYz FH(2E£95)(L=0.1
km) 130,000, 000& 130,000
—EXsS &eEL BASA(REEL 14])
50,000, 000& 50,000
—232 A28 SE2FFEH(25E25)(L=0.
1km) 20,000,000& 20,000
—fd=s ¥ NLE= ZHI1(185km)
157,000, 000& 157,000
-2 - 5= 2 ZHI](405km)
207,000, 000& 207,000
03 Al S THHI 12,237 7,074 5,163
OAE =R HHI 3,399,000,000& =* 0.36% 12,237
405 XtatHE SHI 2,000 2,000 0
01 AL EFH S 2,000 2,000 0
OWl=21+7< 400,000& = 504 2,000
FAEEZ2 AT H 150,000 750,000 A 600,000
401 A& HI K 201 150,000 750,000 A 600,000
01 A& HI 150,000 750,000 A 600,000
OMZE=Z2 E&8IMNZ S AH(L=0.33km)
150,000, 000& 150,000
CHEHIC & XA 500,000 1,000,000 A 500,000
403 A X EHS =0l A 500,000 1,000,000 A500,000
02 SO 2SOIlCHEH A2 X 2| & A I 500,000 1,000,000 500,000
O UEIC XA 500,000,000& 500,000
FEE 2UFAHE Ol & 515,000 400,000 115,000
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MU b
Y e
B B O
TR

&+ =

o

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
401 Al HIZ 201 Y| 515,000 400,000 115,000
01 A& HI 515,000 400,000 115,000
OURX 20l0ts ot =L Z ALY (L=150m)
100,000, 000& 100,000
OUX AHs0tS~2W0tSs == & ZH(L=500m)
200,000, 000& 200,000
OUX HA&FH0tS 2H0ltH=& XS AH(14A)
200,000,000 200,000
OURX &40tE2 s2 THEZ 3 AHL=170m)
15,000, 000& 15,000
MW E & X AL 120,000 0 120,000
401 AIEHI L 20 120,000 0 120,000
01 A&l 120,000 0 120,000
OgXl F3&el sduxz &
120,000, 000& 120,000
ST Lot 2te| 800,000 0 800,000
401 AIEHI L 20HYI 800,000 0 800,000
01 A& 800,000 0 800,000
OR0H 221 MItE 3 AH(L=0.35km)
800,000,000& 800,000
St==2tel 78,611 72,620 5,991
Xl Gt==2t 2l 78,611 72,620 5,991
Xot==O0lSAEHZAL & HIJAL =7 27,000 20,850 6,150
401 Al HIZ 201 Y] 27,000 20,850 6,150
01 A& HI 27,000 20,850 6,150
OXI6k4 01 8 A Bf = At 20,000,000 20,000
OXot HE & & =2+ 7,000,000& 7,000
ot 0l & 2¢cl 51,611 51,770 A 159
201 £Br2%| 38,411 38,570 A 159
01 At 22l 38,411 38,570 A 159
Oget==EH| 38,411
—~ 238 Nots FISPAA 222 38,211
Mg (88) 294,400 » 2501 & 7,360
ME2~(HESE) 151,500% * 2100 A& 3,182
sHE=+ 120,300& * 2300H £ 27,669
- BEXGE +EAM WY 7Y
200,000& 200
403 X SHHSA=0l& 13,200 13,200 0
02 S 2S00 Het A =8 2 & AL H 13,200 13,200 0
OEXXdts 2= AEZKRXH
,200,000& * 11042 13,200




SN A0S

[ =]

ni;
2 NG L A

SR AFE XNFAS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
KSR AL 720,000 520,000 200,000
22 XFAS 720,000 520,000 200,000
HIR=S=INE=R; 720,000 520,000 200,000
401 AIEHI L 201 720,000 520,000 200,000
01 A& HI 720,000 520,000 200,000
OHECZZ(2E,sE=XZ2)0I2EXN24 EX0H
2 500,000, 000& 500,000
OHEEZZ (0222 SR EXNE A
200,000,000 200,000
Ol0=&8X &8 20,000,000& 20,000
HEzws X2 15,435,947 16,179,950 AT44,003
2 42,600
s 2,968,000
< 405,913
s 12,019,434
nEidAN = 428,224 354,797 73,427
2 2,700
< 900
[ia 424,624
wsZEA A & =28 416,224 347,797 68,427
101 @124l 50,600 48,169 2,431
04 JIZHHZ2XNESE+ 50,600 48,169 2,431
OUEENMAERH 50,600
—Jl=s 73,2803 * 2H x 245¢ 35,908
—Re5gsE 73,2803 * 2H » 68 9,967
—-28s 45,873,280& = 0.103 4,725
201 Yet2 Ayl 171,904 149,228 22,676
01 At 221l 62,936 50,436 12,500
Ogt=&H| 55,536
—WSHIANH L WSEM EE2 HH
5,760,000 5,760
—ASHHLEE L FEX ANEE P
DXM HZ 100,000& * 3&F * 102fA 3,000
— &35 M 88& * 15,0004 1,320
— =& SANFY et ME
200,000& * 1004 2,000
—HAAMZE WA 50,000& = 504 2,500
—HEAM ME =2 80& = 10,000 800
—WSUHEALEE IS =22 28,156
IS E
(51,0003 * 10671+8,600% * 47553 )*1 10,441




X &
se (el @2)
B (BH) - NRAY - By Ol &+ o4 SSa HlmE2
NS
(51,0002 * 1597148,600& * 1905 F)*1 10,718
A
gogs sas
(51,000& * 1007(/+8,600& * 985 )*1. 6,538
1
- MOIZI &S
(51,000& * 7J/48,600& * 7S=)*1.1 459
—HAYRT 2B Y 2
1,000,000& = 12& 12,000
24 2,100
- DEGEIMMOYRS HALY
70,0003 = 5% « 23| 700
~ DEUN0ISHASNANSE FH4T
70,000& = 3H « 23| 420
—EAZXSARE BHLY
70,000 * 79 x 23| 980
o1l =l 1,800
—WESKNEEH 1,800
28= 150,000& = 6" » 24 1,800
Oogxz 3,000
—SogxnY AdM A%
100,000& * 30CH 3,000
OFBXCE SHAYUNHIA 2200E 7
500,000& 500
02 3323l 108,968 98,792 10,176
O=2323 & HA 60,088
~NSAHMATE U EZYINAY DEHE 2
fH sz 2,530& = 2,000A 5,060
—WEE AMENLD SN RESIZ
2,530& = 2,000A 5,060
— Y45 DN SEF RESIIE
2,530 * 1,500 43| 15,180
— ANAsSXHEISA HHS A
4003 = 1,20000 = 123 5,760
— FENES 2 U Jtlet MRS
20,0003 * 84 * 12& 1,920
— 2L AL EHES =5
143 * 2,500 « 12& 420
—NEEMHE RPUUNSZAEI LTEZE AS
=3 44,000& ~ 12& 528
— 2o WEHEIMHCt AHY MERS
40,0003 * 2J 4 + 12& 960
— 29 HA FEAAE(BIS) Saldl & &I
RS 2,100,000 * 12& 25,200
OA& ZHl R Xl 48,880
—OlSASHEIH2AIAE S XY
5,000,000& 5,000




= - — SHE|
CHB G (B) - HRAMY - BES 0l &t o8 il HlnE2
— DEA I RAE 4l
250,000& * 10004 + 123 30,000
—EY F=EX SALE MHlA FXE=H
400,000& = 123 4,800
— DA B3t el /48]
5,000,000& 5,000
—SEMEZE Z20H RAE 24|
340,000& = 12& 4,080
202 O4dl 8,420 24,180
01 =S LHAYI 8,420 AN4,180
ODEANLS B2 2 DEEAN =8
8,420,000 8,420
203 PR =&l 2,500 500
03 Al =X A2 =X 2,500 500
OnszMEeg 203l 250,000& * 103l 2,500
204 MR- AH| 4,800 0
03 EZYREHI 4,800 0
OSEAHIE A 23]
200,000& = 298 = 12& 4,800
307 eIzl & 3,000 0
02 It M AMHE X 3,000 0
ORY2&Ital At XI& 3,000,000& 3,000
401 A& BIZ 201 8] 175,000 135,000
01 A& HI 175,000 135,000
ODZA =FX &= Stdllet &X
40,000,000& 40,000
ODNFA =FX &= Sthllet LM
25,000,000& * 30 4 75,000
ORI WESHFY (W30 X ALY
60,000,000& 60,000
28X 2HdEY XAty X2 3,000 A4,000
< 900
i 2,100
301 LPEXZ 3,000 A 4,000
< 900
e 2,100
12 JIEtE4 3 3,000 A 4,000
OLNdE2&8 Tt 2dBs6 ety K&
3,000,000& 3,000
< 900
[ia 2,100
g 2H0Y MY 2435 A Y 9,000 9,000
= 2,700
i 6,300
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2N
X ZH -
L= B

el

=]

By
O O Mz
M El
>0 O
I {0

Jor A

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

301 LetE2H = 9,000 0 9,000
,700
,300

MW

2
6
2 9,000 0 9,000
Ongx 25 N&etd X 9,000,000 9,000
2,700
6,300

MW

A & SEs2sAE X 6,985,392 7,505,641 A 520,249
39,900
419,000
403,013

6,123,479

AW

1%
pal
H
2
E
Ot
op
]
>
o
gl
00

33,232 29,505 3,727

8,053
25,179

M H

101 1Al 33,232 29,505 3,727

8,053
25,179

EURLY

04 DIt 22 XS+ 33,232 29,505 3,727
OHXNLE(sHEHA) RS ZAE 33,232
—E3d 73,2803 * 43 » 2 * 23 12,605
3,000
9,605
— 54 73,280% x 438 * 2& « 1.5 » 23] 18,907

5,063
13,854
— BN 282 20,0003 = 43Y = 23] 1,720

EURLY

EUE

=ZH RIIEEXS N&E 3,000,000 3,000,000 0

307 21201 & 3,000,000 3,000,000 0
9

HEXZS 3,000,000 3,000,000 0
SHEXZ N 3,000,000,000& 3,000,000

HXcd 4283 X 903,000 637,177 265,823
197,000
56,000
650,000

EUNCIEY)

307 glztol & 903,000 637,177 265,823

197,000
56,000
650,000

oA

o
e}
Ho
4
i
=
H
gl
oy

903,000 637,177 265,823
903,000, 000& 903,000

197,000
56,000
650,000

O
i
bal
H
rx
r
x
H
0
oy

Al

o

A A

HAHA MEXZ 1,085,000 1,249,112 A164,112
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225,000
860,000

307 21201 &
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1,085,000
225,000
860,000

1,249,

A164,112

1,085,000, 000&

EUNE

1,085
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,000

,000

,000
,000

1,249,

A164,112

A 2 X224 XA

AW

218
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179

,000

,000
,000

192,

000

26,000

307 glztol &

HoH

218

39
179

,000

,000
,000

192,

000

26,000

OHAISH 2XE24H XA
21,800,000& = 10CH

MW

218

218

39
179

,000

,000

,000
,000

192,

000

26,000

BAR3 tEZ2M =8 XN

Mo

15

12

,600
3,
,500

100

,000

3,600

307 glztol &

EURLY
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,500

,000

3,600

o
O
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4
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x
N

s §
=]

o

O
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=
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IIEZM =8 X3

15,600,000&

M

,600
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,100
,500
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H
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o

M H

,000
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000

7,000

307 21201 A

EURLY

,000

,500
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40,

000

7,000
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EJ

St =+=5 NEAY

7,000,000&

Mo

M

,000

,000

3,500

40
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,500

,000

,000
,000

40,

000

7,000

SotE 8Al & 2N (sEE)
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,000

365,

000

91,000
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85,650
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o
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450,600,000&

HH A

450,600

450,600
169,300

85,650
195,650

361

,400

89,200

U AT

5,400
2,700
1,350
1,350

,600

1,800

Hsns(

EAFE
DRT) AIAE AlE =2
*

450,000& » 12

M A

o

,400

,400
,700
,350
,350

— = N O

,600

1,800

Jis
I
H
0
0&
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H
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Ho
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100,000

50,000
50,000

100,

000

307 glztol &

A

100,000

50,000
50,000

100,

000

A& 100,000, 000&

M

100,000
100,000

50,000
50,000

100,

000

419,280

385,

200

34,080

419,280

385,

200

34,080

=4 11

66,0002 = 240CH = 12&

0,000& = 160CH = 128

180,000& * 100CH

419,280
419,280
211,200
190,080

18,000
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200
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230,000
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20,000

230,000, 000&
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FAM: A4S
M sws N
SRl 01 U HERAAY SREED
SN BA(SH) - B2 0l &t o il HImEET
207 & O] 22,000 22,000 0
01 284 22,000 22,000 0
OHAgN 2E LM 24
22,000,000& 22,000
N2BEE AAHE 2,420 2,574 A 154
308 MtXIEHSOIH 2,420 2,574 A 154
n3J12s0s 2,420 2,574 A 154
OHAI2HFEZA 2,420,000& 2,420
ALSWSIIHE AN 2,000 280 1,720
= 900
= 360
s 740
308 XX EHHSOIA 2,000 280 1,720
= 900
= 360
s 740
n3J12s0sa 2,000 280 1,720
OZdgsns? Ot el Xl XI&
2,000,000& 2,000
= 900
< 360
e 740
AZEAAE(BIS) RX2 36,860 0 36,860
308 XX EHSOIA 36,860 0 36,860
1 3J12s0s 36,860 0 36,860
OHAZEAIAE 36,860,000& 36,860
HEH2A WSIHE 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
09 2+HAHEEXS 100,000 0 100,000
OSHEHA DEHCSAAY =
100,000, 000& 100,000
ACARSH 29 315,000 0 315,000
307 glz2tol & 315,000 0 315,000
09 2HAHAEXS 315,000 0 315,000
OHYLdIM & 315,000, 000& 315,000
QtEAEE &5 ¢ 7,364,540 7,669,504 A 304,964
s 2,549,000
[ 4,815,540
St OlAld AX 1,465,600 1,460,573 5,027
201 LBt 82,832 69,032 13,800
01 At 22l 9,600 11,600 A 2,000
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2N HENED
¥ zus XN
Ce: NECHNAIEZE &5 2 A (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Ogdxte 9,600
- DEHWARE Y AX
800,000 = 12& 9,600
02 BBl 73,232 57,432 15,800
OAN&FHISX b 14,000
— HASAGOIA B2 (2020H2)
7,000,000& = 23| 14,000
O=2222 <2 MA 59,232
—nEANS)| M2 4,450,000 = 128 53,400
-1 S8H((ESR)
1,350& * 360f = 12& 5,832
401 Al B 20 HI 1,382,768 1,322,444 60,324
01 Al&H| 1,377,700 1,317,700 60,000
ONSAUHHMAILZE X L FHH| 1,117,700
—X& Y BT JHEM 470,000,000& 470,000
—EBUHFEX 272 SHEA
30,000, 000& 30,000
—wWEANSI &X 63,000,000& * 6IH 2 378,000
—WEANSHONWI WH 700,000 * 6IH A 4,200
—NESASI EF M 2,500,000& * 154 37,500
—Eo08Es E2)| 4
4,000,000 * 200 A~ 80,000
—MoI2183ZsS &X 3,000,000& * 6 A 18,000
— WENMEX T AX 100,000, 000& 100,000
ONsSAHFMANEE RANES 140,000, 000& 140,000
OHASHIHIIA &EX 10,000,000 * 5J0 2 50,000
OHASAHIIA SXNES 30,000,000 30,000
OHASHUIIA LED =¥ &X
2,000,000& * 2004 4~ 40,000
03 Al& 2 5,068 4,744 324
ORSUHFALS &3 L Fb|
1,407,700,000& * 0.36% 5,068
F=XEHIMNAS AN 5,253,000 5,208,000 45,000
hag 2,549,000
= 2,704,000
401 Al HI L 2 0HHI 5,253,000 5,208,000 45,000
fag 2,549,000
= 2,704,000
01 A& HI 5,240,000 5,190,000 50,000
OJl2 & aAANEH 40,000, 000& 40,000
oYXl tHals sEF=XUE Z4AY
1,500,000, 000& 1,500,000
rag 750,000
= 750,000
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= - 4 14
N X8-S (3H) - MEAY - B %Eﬁ HR=2
SEEIEERFESEaESII=
2,200,000,000& 2,200,000
Fag 1,100,000
= 1,100,000
O&Y 4 IYFUY ZLAL
400,000,000 400,000
Fag 149,000
= 251,000
OYdE =38 M2 2 F=XE ZLEALY
200,000,000& 200,000
Fag 100,000
= 100,000
OFgx 22 SIFXHE LAY
900,000,000& 900,000
oy 450,000
= 450,000
03 AlE 201 Y| 13,000 18,000 5,000
OYXl S BSFUE S
5,200,000,000& * 0.25% 13,000
NE XM 645,940 900,931 A 254,991
201 B9 2,160 1,920 240
02 E2=2=2%H| 2,160 1,920 240
OZ2222 ¥ HMA 2,160
—SIENSI BEF=XNE CCTV MIIR2
70,000& = 12&€ 840
—SIENSI BEFXUE CCTV A3 =
110,000 = 12& 1,320
401 A& H|IZ 2 0HY| 643,780 899,011 A 25h5,231
01 Al& B 640,000 895,933 A 255,933
OFXE ZEAIY D2 2 AAAEH
18,000,000 18,000
OAHWNOIE 2YFXE ZHALY
350,000,000& 350,000
Onst 2GS ZHAIS 250,000,000 250,000
O2YFXE X0 M=2el(8MA)
22,000,000 22,000
03 Al 201 Y| 3,780 3,078 702
OAHWNOIES 2EF=XE S 30 ZEAMY
600,000,000& * 0.63% 3,780
sk olsd 2& 657,791 650,008 7,783
o= 2,000
= 655,791
gnNE4st £ 29 637,791 630,008 7,783
307 2I2t0| & 588,791 501,008 87,783
05 QIZtREZ 588,791 501,008 87,783
OSERELT LY 588,791
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E=pmE-—n);
sus K&
sSAN0IsH 2F

M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
— Q12| 454 411
2H I3
1,914,440& * 14H = 128 321,626
A A3 957,220 * 144 x 2& 26,803
a2 eEE =2 81,900& » 14Y = 128 13,760
cAAEEES 66,900& = 149 » 12& 11,240
- NE2YE = 21,0008 » 14 = 128 3,528
cAHTHEE 2 29,800& * 14¥ » 12& 5,007
B DG 10,000,000 10,000
CESESEE
1,914,440& = 0.1 » 14Y = 128 32,163
&3 A2 =Y
9,160& * 1.5 = 10AI2F = 14 * 128 23,084
CNRE NR4g
300,000& * 2% * 12& 7,200
— 29l 134,380
S 1,000,000& = 700 ~ 12&€ 84,000
sSdH= 1,100, 000& 1,100
- XA 100,000& = 70H = 128 8,400
B8 2, AS XA, Z A
1,700,000& * 7CH * 13 11,900
@) RANES 220,000& = 12& 2,640
cENREB 60,000 * 12& 720
cREHH olg ¥ 224
300,000& * 7CH = 12& 25,200
SHY WEEFALG 30,000& * 144 420
405 Ko SHI 49,000 129,000 A 80,000
01 JHAE =2 ZF S HI 49,000 129,000 A 80,000
QUSANSHA 2L 49,000,000 = 1CH 49,000
AHA 2HHl K& 20,000 20,000 0
o= 2,000
= 18,000
307 212t0| & 20,000 20,000 0
o= 2,000
iy 18,000
09 LHAHEEXS 20,000 20,000 0
ONAHA 29H| X 20,000, 000& 20,000
< 2,000
= 18,000
H AL (AL DNED) 712,521 716,149 N 3,628
= 367,203
= 345,318
SAH(ALWE) 658,549 655,993 2,556
= 367,203
= 291,346
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FAM: A4S
B LSRR (AMDSD)
¢ oAHY(AL DS (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OlARHH(HE WS ) 658,549 655,993 2,556
< 367,203
= 291,346
101 @14 Hl 606,957 655,993 249,036
< 338,682
s 268,275
03 3R (RINHY)2ZNHES 606,957 655,993 A 49,036
o2& 606,957
—JlEg=s 2,721,450& x13E «12&
424,546,200 424,547
< 236,897
[ia 187,650
— 2T A+E 220,000&*x13H+12&
34,320,000& 34,320
< 19,151
[ia 15,169
— A=Y 100,000& 13F 122
15,600, 000& 15,600
= 8,705
[ia 6,895
— BrE =5 100,000 x1H x 122
1,200,000& 1,200
< 670
[ia 530
—JtE=Y 680,000& 122 8,160,000 8,160
< 4,553
s 3,607
— BHESOHHl  2,721,4502 »60%*13H 23]
42,454 ,620& 42,455
= 23,690
s 18,765
—HEZEZ24Y 3,049,140 /226 *1.5%20Al
2Ex13H *12 63,141,690& 63,142
< 35,233
= 27,909
— XY 2,721,450 /226 L *8A| 2t %13
P14 17,532,881& 17,533
< 9,783
i 7,750
04 A3RE=S 51,592 0 51,592
< 28,521
= 23,071
01 A3 EE3 27,313 0 27,313
Oxz=E4+d 27,313
— 32 Y3 606,955,392& * 0.045
27,312,993& 27,313
< 15,100
[ia 12,213
02 2AHLBES 24,279 0 24,279
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AN A4S0
B LSRR (AMDSD)
¢ oAHY(AL DS (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Okz&E=x¥ 24,279
— IJQALEEHS 606,955,392 * 0.04
24,278,216& 24,279
< 13,421
[ia 10,858
[2ZH(A48nsS) 53,972 60, 156 N6, 184
Jl2dul (A8 s) 53,972 60, 156 A6,184
201 L2l 28,232 31,776 N 3,544
01 At 2t 2l 28,232 31,776 N 3,544
Oget=&H| 9,500,000& 9,500
O= &l 18,732,000& 18,732
202 O4dl 12,000 14,400 A2,400
01 = LH 4 bl 12,000 14,400 A 2,400
OJlege=d 50,000& * 209 = 12& 12,000
203 YR =&t 8,340 8,580 A 240
01 JI22H =4 3,300 3,300 0
o= 275,000& = 123 3,300
04 REN2ELRZ=LH 5,040 5,280 A 240
O30¢! oIt 400,000& = 12& 4,800
03121 0l &t 5,000& * 48 » 123 240
204 MR F | 5,400 5,400 0
01 ¥R 5,400 5,400 0
O4= 350,000& = 12& 4,200
OLT=; 100,000& » 12& 1,200
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